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L1 Mwplwbwgph ghtip thnthnlubg b 5,1 fhnp judpuqpl hbnlbyuy pdpugpopyudp, «,1.Unygb yuwjwdwigph
punhwlnip ghip Ywqumd £ 1139551 728 (kY Uhjhwpy hwpynip Epkunithbip dhjhntt hhtiq hwpynep
hhunul Ukl hwqup jnp hwpnip puwiinip) 22 npuid, nphg 189 925 288 (UkY hwpynip nipuntbihiip dhihnb
hup hwpjp puwihhiq hwqwp btpine hwpnip nipunibimp) 22 gpudp’ UUZ-4, huly 2022 p.
hpuwjwhwgybjhp wouwnwhptbph ghiip Yywquh 903 372.785 22 npud Ukpwnjwy pnnp Swuukpp,
owhnypp b UU2-t»:

1.2 Zwununnk) Zwdwdwjiwgph tnp Coghwiimp b 2022p. Sunjwjwpbpp-twiwhwohdubpp hudwdwi
hwyb s 1-h:
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2ukpus N 1

QUOULUTDPU 1
OU4ULUBE - LUNUZUTHY
$-8-22, /U-2/-Juipnujuip-upputg-Uqupuy unjinndwbwuwphh GU0+000-GU13+100 hwinjwsh hhdbwinpnquwh

wpfuwwnwbpubkph
(Cunhwhnp)
/22 hwiquip npud/
S
3 & Uhuryop
2/h Uphuwinwhpbbph widubnap 25 | owjup h Cinhihioin
. wpdkpp
&< wpdtpp
1 2 3 5
I 8wbgh gulijwywwnbph pwhnnud b tnp gwbjwywnbph
ubknunpod
1 Gnjnipynil ntlikgnn ny whinwbh guiigh gwijwwwnkph o 174 3,850 669.900
wujwinbnuljuynul
Lnp gubigh gulijwwwinkph nknugpnud h=1.54 qd.u 174 6,360 1106,640
Tunnnywljikph hhuph dhwdny) phnint B15 0.25x0.25x0.34 ud 1,44 49,580 71,395
2
Ubkinwnuwlwl junpndul d=76x2.504, 1 gd.=6.25lq g 171,6 3,390 581,724
Ukwnwnulwl guig 50x50Mm u2 261 0,900 234,900
Cunudtip I 2664,559
I | Znnuyht wphiunwtipikp
1| 1Il0n gpnitnh dowlhnud b nbnuihnfunud pagngbpnyg S04 (hgp u? 2 830,00 0,430 1216,900
2 | ‘unylp V10q qpniinp U 1 400,00 0,760 1064,000
1110 qpoiinh dpwlnud kpuljunjunnpny/0.65¢%/, pupdnud
3 w/hipliipuadibph dpw w3 1.080,00 0,670 723,600
4 | wbnunhnjunuf |hgp 1.044 wnnl 2052,00 0,287 588,924
V10q gpnibinh vpwhnud kpuljwijwiinnpny/0.654%, p/, pupdnud 3
5 w/hbpbwpuihbiph Ypus 1§ 760,00 1,190 904,400
6 | wknuihnjunud |hgp 1.044 wnnl 1596,00 0,287 458,052
V10q gqpnibinh dowlnud Epuljwiwinnpny/0.65u%, pupdnud
7 e N s 220,00 1,190 261,800




8 | nbnuthnjunud thgp 2.04d unnb 462,00 0,359 165,858
9 | V10q gpnituwnh pupdnud W 440,00 1,190 523,600
10 V10q gpnibnp nknuiinjunid wwhniuinhg * 24u-hg |hgph o 924,00 0,359 331,716
hpuwiugdwl hundwp
111100 gpmbap dpwlnud b wibnuihnjunid paynngbpny 500
1 Ynunwlnidny, pupdnid Epuljujunnnpny/0.65u3/ 0 N0 Q502 32200
12 | wbnwihnjunud \guljnywn thehtp 6.04d wuinb 3 040,00 0,593 1802,720
13 | Lnyup V10q gpnitinp w3 590,00 1,947 1148,730
14 | wknwihnjunul \gulnin dhehlip 6.04d winb 1 239,00 0,593 734,727
15 | Ynnuyhb wenibkph wnuwhwinuf dkuwhqinyg s 7 460,00 2,240 16710,400
16 Lhgph uinwgnul wbldngnnuny Uk htwpny 6 wignuwny 30ud e 6740,00 0,631 4252,940
2kpunnh hwunnipjwdp, oph nwpwdnudng
M424+06-1424+10 hwuinwsnud wehg pwpwpknpubph VII20w
17 | thjupkgnud/0.6-4.0U3/ ww)pwhgpunht (hgpkpny, ww)pwhgph g 18,00 5,720 102,960
funpnipyniup Jhtipl 0.54
Cunudbup I 32530,527
I Swlwywphuyhn wunnjwdp
1 SGnjnipynib nibgnn Swbwwywphwht wundwdph plugndd, B 1222260 0.760 9289,176
hwnwgnud h=15ud
2 | hdwlynydwjuquiht skpin C5 h=12ud y? 81 484,00 1,230 100225,320
3 | Phuinuing Yowlwd judwwquyht fuwntinipn h=8ud 2 77 759,00 5,460 424564,140
4 | SwpJwbpwhwwnhl w/pbuint ,A"nhy h=4ud u? 76 270,00 4,240 323384,800
Cunwukp I 857463,436
IV | Unpbwlubp
1| 8wlwpnipquyhlt gpntbnh pupdnud Iy 8 206,00 0,620 5087,720
Swlwpnipnuyhli gpaitinh wknwihnfunud wwhniunhg dhghlip
2 204u-hg ynnbulbbinh hpwlwbuguut hunfup nnb 16 001,70 0,360 5760,612
Unnuuljibph hwppbgnud /34191m2/ b futnwgnud wuling pnbing 1
3 | hbwnpny 4 wignuwny h=24ud pkpnh hwuwnnipjundp, gph I 8 206,00 0,620 5087,720
wnuwpwdnudny
Cunudkbp IV 15936,052
v Ninhukp




Uduqulnyduhl okpn funpnuibibp vl h=10ud I 7,78 5,720 44,502
;I;I;Llr;l\flmmllmh hunpnyulh wbnugpnud d=325d4; 1q3.U=39.5Yq; P 129,90 31,780 4128222
Tunnnjwlukph gpwdklniuwgnud Epljstpun nwp phuinwdng U2 132,56 1,830 242,590
Quwnhpubph vhwdny) pinnt B15-32hwwn Iy 9,60 102,840 987,264
vdwlnwgunjwquht gkipin C6 h=12ud u2 3725,40 1,210 4507,734
Swp dwbpwhwinhl) w/pbwnnt A"y h=4ud u2 3474,90 4,180 14525,082
Cl whyh yjwuwnhy wqpubpwbughb ynitikph wnwgpod hurn 204,00 5,440 1109,760
Ubunwnulwl ungnduwl 57x3,0ud qs.u 108,00 5,280 570,240
plwnnb B15 w3 3,60 47,560 171,216
Unwybinippul hwn 36,00 18,960 682,560
CunudkupV Nunhkp 26969,170
Ununp
Uququlnwdwhb gbpin junnnuljiibp niwl h=10ud g 3.77 5,720 21,564
gl;:;;uqmuu.lh funnulh nbnugpnul d=325u0; 1g3.4=39.5yq; g 62,9 31,780 1998,962
funnnyuwlubph gpudkniuwugnud Epljokpun tiwp phuiinuing U2 64,2 1,830 117,486
Suwnhpubph dhwdniy phwnnt B15-18 hun [IE 5,4 102,830 555,282
vdwlnydwwquyhb okpin €6 h=12ud u2 661,1 1,210 799,931
Swp vwbpwhuwnhl w/pbnnt A" wnhy h=4ud u2 661,1 4,180 2763,398
Cunwyklip VI Ununp 6256,623
fppnn fjunnniulikph vwppnud b Jipulwighnud
Gnjnipynih niibignn wwppbp pugwsplbph eppnn junnnywljukph e 315.2 2.900 914,080
Uwppnid dknpny-26hwn
pupdnul Ywppnwd b wiknuithnjunud jguiljniyn dhohtip 6.04U nnl 598,88 0,980 586,902
d=530ud Ubinwnuljwb jnqnjwlukph quuwnhpikph 0 256 102,840 263.270

hpwlwliwgnud dhwdny| phwninting B15-4 hwin




d=720uUd dbwwnuljwb fpngnjuljukph qiluwnhpubph

& hpwlwbwgnul Jhwdny) pninting B15-4 hwn B e 102840 fias.02
5 Unyl junpnjuihh Juph b wonwdh hpuwjuiwgnud dhwéntyg e 404 71,520 288,941
piwinbihg B12.5-4 hwwn
6 d=0.75d b/p junnnjwlukph qjluwnhplbph hpuijwbwgnud dhwdnyg B 24 102,840 246,816
pEwinuiny BI5-2hunn
7 ‘Lnyl jungnulh uph b wnudh hpulwibwgnd dhwdniy s 202 71520 144,470
phinnuhg B12.5-2 huiwn
8 d=1.0d b&/p unpnjwlubph qluwghptibph ppuwjubiwgnid dhwany P 78.4 102,840 8062,656
pbunintiny B15-28hwin
‘Lnyl fungadwlh Juph b wnwdh hpulwbwgnud dhwdng
9 phinnthg B12.5-28hwn W 39,4 71,520 2817,888
10 d=1.25J b/p junnnyulukph quwnhpubph hpwlwbwgnud Jhwdnyg s 56 102,840 5759,040
punntiny B15-14hunn
n Unyl jungnulhh Juph b winuwdh hpulwbwgnud dhwdng s 22,54 71,520 1612,061
phinnthg B12.5-14hwwn
12 nnnjubibph qlluwnppubph gpudtlniuwgnud Eplgkipn vwp 02 251 1,250 313,750
phinnuiny
u MY119+91 b MY120+78 junnnywljubph Epwpugnud bph vwunuwd 3-
wlwb dkwnp
P | Uduqulnwduyht gbipuin h=10uwd/ I 1,6 6,280 10,048
q | Onulukpp hpdtwwnwlh dhwany pbwint B12.5 Ul 3,72 58,200 216,504
n | ©/p pinjubph nknunpnud N13 hun 6 116,820 700,920
E | Runijuyhl gpunlklniuwugnud Eplppkpun inwp phuinudng u2 18 3,550 63,900
q | Unubdwjht gpudtlniuwgnud 2 6 6,140 36,840
13 | Qpuwnhph hhdph Jhwany) pkwnnt B15-Zhuin W 6 74,390 446,340
U. | MY100+73 unnnywlh Epjupugnud kiph dwunuf 2- dkunp
21 | Ujuqulnwdu)hl obpin h=10ud/ I 1 6,280 6,280
22 | Onulukph hhdbwwnwhh vhwany) pknnt B12.5 us 1,6 58,100 92,960
23 | ©/p pinlh nkqunpnud N14 hunn 2 139,500 279,000




24 | Onuyh gpwiukmuwgnud kpljskpn viwp phinnuing u2 7.4 3,550 26,270
25 | Qyuwnhph hhdph dhwany pkwinb B15 s 3,75 74,390 278,963
Cunwukp VII 23661,531
\I,II ZEbwwwwakp
u dbphb hEbwuywwnkp
11110n gpnibnp dpwlnud bpuhwwinnpny/0.65u%, pupdnud
1 w/hlipbwpuwithph Ypu I 127 0,670 85,090
2 | wknuihnjunul |gulnin 6.04U wnnb 241,3 0,590 142,367
3 | Lnwip wknpnud Ynunwlnudny hknwnuipd (hgph hudwp IS 43 0,460 19,780
4 | Udwqulnudunhb okpwnn h=20ud s 10,5 6,280 65,940
5 | Zhdph ppwdpwpk phwnint B20 s 61,26 51,380 3147,539
6 | Ppwuh uwdpwpk pbwninb B20 u? 59,49 52,440 3119,656
7 | Qpudkniuwgnud Eplokpun viwp phinmadng U2 182,2 1,250 227,750
8 | Zbbwwwwh Epkuwwywinnud udunny u2 101,4 1,970 199,758
9 MY46+80-M447+00 Jtpht hkbwuwwwnh hpwbh JEpwluqunud 3 13 68,810 894,530
Jhwdanty) pkwnnuny B20
10 | Zkwwnwpd thgp w 43 0,090 3,870
11 Uwnphu hEhwyunnkp
111105 gpnitnh dpwlnud tpuljuduinnpny/0.65U%, pupdnd
12 e T f e s 380 0,670 254,600
13 | wbnuihnfunud guljnyu 6.04u wnnl 722 0,590 425,980
14 | unwlip wiknnul Ynunwynudng hknwnupd hgph hwdwp B 152 0,460 69,920
MY48+39-MU48+72 wehg gnynipinth nlubngnn phwnntibk
15 wwpwybntbph pwunnul tpuljwuinnpny/0.65U3/, pupdnud . >28 ety iy
16 | whknuihnjunud jguljniya 6.04u wnnb 10,032 0,590 5,919




17 | UJjuquljnygujhl obipin h=20ud w 58,5 6,280 367,380
18 | Zhuph juwdpuipkpbunnt B20 3 336,01 51,380 17264,194
19 | Pputh pundpwpt phunint B20 IS 401,32 52,440 21045,221
20 | Qpuudblyniuwgnud Epljpkpin viwp phuninuing U2 9235 1,250 1154,375
21 | zEwnwnwpd hgp 15 152 0,090 13,680
Chnudkup VIII 48514,940
X Swbwuywphh juhwynpowd
Switnuujwphuyhb biowblikp
Ubkunwnuljwi junnnjuwl 57x3,00d (L.2Y) 330 5,350 1765,500
pbunnli B15 W 11 47,550 523,050
‘Lwjuwqgnipughing hunn 86 18,960 1630,560
1
Ununb nipjub hunn 2 18,960 37,920
Zwwinily phpunputiph hunn 8 18,960 151,680
Sknkjwunynipwb hwwn 14 15,510 217,140
Lpwgnighy nknkiwwnynipput hun 14 15,510 217,140
Cunwikup IX 4542,990
X Upgbkjuthwlnghkp
‘Unp dEnwnulub wpgbunhwlngbtph nbnunpnud (d=4dd, puy; -4
; U, YEnwnuljwb yndl, jubgiul) -792hwn) 1 — 22220 82712300
2 | wjuwqulnmyhd Iy 25,74 3,100 79.794
3 | Cl whuth ywuwnply wenubswbiughb ynmbkph nkquppnut huwn 934 5,430 5071,620
4 Eqpuywubkp pwdpupk phnniihg MY48+38-1448+73
NY50+70-MU51+20 /0.4x0.6x2u-34 hwn/
5 | Zhuph pwdpwpk phiwnnnt B20 I 6 51,370 308,220
6 | Ppwuh joundpupk pkwninhg B20 3 16,32 52,430 855,658




7 | Bopuuwunh ujunnd U2 125,12 1,960 245,235
8 | Bopuuwwnh bbpynud U2 125,12 0,600 75,072
9 Bpplkykh dwuh bowgdmd , imuuwmbnpunwpdhy gunhukph
oquuugnpduwp 0.35}q-1y?
10 | Zuwdwunmwpws 1.1 Lu 5,682 130,220 739,910
11 | Cuphwinnih 1:3 (1.5) yd 4,538 56,060 254,400
12 | Cunhwunnt 3:1 (1.6) () 2,2 105,500 232,100
Cununfkhip X 90639,309
X1 &/p Yupgh kpwunpngnud MY52+69-nud
1 2nignibib ny whwwbh puqphpubph wywnbquunuw/Akpunupd a s 0,09 27,970 2517
ubthwljubwinhngp
Gnjnipgnih ntibgnn puypwyjws kqpupwpbph pwbnnul 5
2 niknuthnjund (guljnywn 6.0y ! S e 0725
3 | wknuthnjunud jlgulnijn 6.04U wnh 1,296 0,590 0,765
4 | U/p2bpup pwbinnul h=10ud IS 7,2 5,150 37,080
5 | pwpdnuf dknpny, nbquithnfunud \guiljniyn 64 wnnb 15,84 0,980 15,523
6 ‘ll:_nll.]ll:[lgj phwinbb uypwonwibihy, opudEniuhy b hwpplgiing skpunkpp B 792 30,970 245282
7 | pwpdnul dknpny, nknuhnpunud lgulniyn 64U/ wnnt 19,008 0,980 18,628
Tednplwghnt juph pwinnud pupdnud hiptwpwih dkrpny:
8 S e e gdd 22 2,370 52,140
9 | pwpdnuwl dknpny, nkquithnfunul \guilniyin 6Yu/ wnnb 0,55 0,980 0,539
Ughg pwjpuyyud 2-pn Ynnuidnp vuh pljuytiwyuwl vhwanipfwh .
10 pEwinth Jugquuwwnnd hwpjuwdwhwin dnipdny ik g2l 2 pads
11 | pwpdnuf dknpny, mknuihnjunud \gulnywn 64u/ wnnlb 0,504 0,980 0,494
12 | 0OP-6 hnnuynp uwih wywinbknuijuynid-1 hww, pupdnud us 1,08 7,490 8,089
13 | nknuthnjunul jguiljniywn 6.04d wnb 2,7 0,590 1,593




14

3 2kpw winjh tionud uwh U2 2,1 8,780 18,438
15 | ‘Unp [1P-6 Ynnudnp uwh nkqwljuynud hwtn 1 461,200 461,200

Ephpwjhb jgwifwh thwany) phnnt B30 u3 0,21 126,620 26,590
16

wuwpnyp Al@3dd lig 4,06 0,730 2,964
17 | nkpnpuwghnb jupkph ppwlwbwgnul gqb. 22 42,100 926,200
18 | Ptwnlk hwppkgunn skpw h=3-15ud B20 y3 6,48 55,590 360,223

2puilkyniuwgnud rexnoanacr B-ny, phuinntik wdpwbwynpywd

Wwnwwihy gpunh hpwlwiwgnd dhwdany) phnniing B25 u2 72 7,520 541,440

Eppublkih vwunwd h=4ud
19

phuinli B25 u 2,618 58,680 153,624

Sugl 0x10udf 2 56 1,780 99,680
20 | Uhwany) phnntik wujwhphybibph hpwlwbwgnul B20/0.2x0.5x6/x2 (1.R1) 12 19,230 230,760
21 | Uwbpwhwinhl w/p h=4ud y2 56 4,180 234,080
22 | Uwbpwhunnhl w/p h=3ud u2 56 3,200 179,200
23 | Uwypbpp dwbpwhwwnhl w/pbnnl h=4ud u2 12,6 4,280 53,928
24 | Ubjwhphsbbph Wkpynud u2 12 0,800 9,600

Ubknwnulwh pugphpubph wbnulwnd, gnynipgnit niukgnn

ubpnhpbbph Ypw-12q8., bkpynung nnb 0,2420018 46,360 11,219

80x40x3u
LAY 25,14 3,860 97,040
55 | 1-q515.37g @
40x20x3Ud
1-qbi 2.834q gd.u 11,36 2,098 23,833
20x20x2u

1gb-1.13l gd 66,24 0,830 54,979

2% 2nnuiht wpnwinwbptibp hkuiwpwbtkph hhpbph npnnyws B 6 2,900 17.400

dwukpnud




27 | pwpdnud dknpny, wknwihnjunid (gulnyn 64U/ wnnh 11,4 0,990 11,286
28 | Ywph phwnnbik Wuwgnpruikph pwlnnul hupwswhuwn dnipdng W 08 56,380 45,104
29 | pwpdnud dknpny, nbqunhnjunul jguilnywn 6lju/ wnnl 1,92 0,980 1,882

Zhdptiph nynnywd dwubph wlpugnud hudpuipk phwnnting
30 B20/0.8x0.6m/ Iy 58 51,380 298,004
31 | 2hdpkph wipwgnud vhwdnyy phwnnting B20/0.25x1.0m/ I 3 57,470 172,410
32 | ZEwnwnwpd wwwnkph wipugnud dhwany) phwnnting B20 & 32 65,810 210,592
33 ZEbwpwbibph b hbwwnwpd wwnbkph pugpuyws dwlkpbup 2 45 4,440 199,800

nnplphwn gid.wuqny H=3ud

Cunudkhip X1 4830,396
Lpwgnighy dunjwbtp
Uwnnpht hkbwuywun M449+10-1449+60
IH10n qpnitinp dpwlnud kpuljudunnnpny/0.65u3/, pwpdnud
X 7,

1 T u3 115 0,670 77,050
2 | wknuihnjunuf |gulinyn 6.04d wnnl 219 0,550 128,915
3 | Unujup wiknnud Yhnunwlnudng hbnwnwpd |hgph hunfwp u3 120 0,460 55,200
4 | Ujwquljny&ujht gkpn h=20ud u3 12,7 6,280 79,756
5 | Zhdph powdpwpk phinntt B20 J3 71,4 51,380 3668,532
6 | Ppwuh juunfpwpk punnb B20 u3 71,0 52,440 3723,240
7 | 40ud (wjinippudp dhwdany) plinnt B20 u3 2,95 67,316 198,582
8 | Swdwpnipn wwinh kinbhg qa.d 50 10,539 526,950
9 | Swwpnipnujht fnnauljukp d=150du/wnjhkphblwghiy o 25,4 4,773 121,234
10 | Qpuklniuwgmd kpljskpin vuwp phinnwing u2 219,0 1,250 273,750
11 | Bgpuwuyunh hwdpwpk phnnt B20 u3 16,6 52,308 868,313




12 | Bopuwunh Epbuwuyunnnul udunny u2 94,3 1,963 185,111
13 | Bqpuwwwinh bkpynul U2 94,3 0,600 56,580
14 | Zkwwnwpd thgp u3 120 0,897 107,640
15 dEphb hkuwyunn MU96+02-M496+84.5
16 | Ujwqulny&uwyht obipnn h=20ud u3 5,5 6,280 34,540
17| SRR I PN EIpknall 20 u3 14,13 51,380 725,999
18 | Ppwbh punfpwipt phunnt B20 u3 28,3 52,440 1484,052
19 | Qpudklnwwgnid tplokpin vwp phinnudng u2 126 1,250 157,500
20 | Uhwdny) phnntk pwuwl B20 5x45ud u3 1,77 74,173 131,286
21 | Ujwqulnwdughb skpuin Jupkph tuwl) h=10ud U3 39 6,52 25,428
22 | &/p hwjwpnih Jupkph nbknunpnul L=3.0d; 34x30ud sunhup-78qs.d hunn 26 52,467 1364,142
23 | Qpudklniuwgnd Eplpkpn viwp phinnudng u2 98,28 1,250 122,850
24 | Zkbhwywunh Epbuwyunnud udwnny U2 70,7 1,970 139,279
25 | Zkwwnuipd \hgp u3 56 0,090 5,040
M196+00 b NU96+88 ninhtikpnud 34x30 hwwpmlh phwnnuk Jupkph
hpuwjuwbwgnuf Swnwowpny
1 Ujwquljny&uhl okpuin Juipkph tiwl h=10ud u3 0,6 6,52 3912
2 | &/p hwjwpnih upkph nbnunpnud L=3.0d; 34x30uy swihuh-78gs.d hwun 4 52,467 209,868
3 | Qruulblniuwgnud bplokipin tnwp phianudng U2 15,12 1,250 18,900
4 | oykkp N8-169.24g g 24 9,77 234,480
5 | oybikp N6.5-261.964q qdl 444 8.176 363,014
MU96+92-M497+30-nuif 34x30ud Jupkph hpwlwhwgnul
1 | UJwqulnuyduhl gkpin Jupkph vl h=10ud u3 1,5 6,52 9,780
2 | &/p hujwpnyh upbph wnkquinpaud L=3.04; 34x30ud swihuh-78g5.u hunn 10 52,467 524,670
3 | Qpudblniuwmgnud bpljskipin tnwp phinnudny U2 37,8 1,250 47,250
Hwpnuijwlph dholwlwpq nupngh pnipgp U pujpng wwbing
Swbwwwphp hhdtwbnpnquiwt hpulwinagnud
1 | Twuwnwreh hwdwhwppignud 02 450 0,018 8,100
2 | Uwqulny&uyhl okpin h=10ud 450 0,507 228,150

u2




Quhwquinyws fuh& h=12ud phuyinwh niwpwdnuing

3 4.12n1/100002 2 450 3,089 1390,050
4 | Swpdwbpwhwunhl w/pkinnt A nhy h=Sud @ 450 5,170 2326,500
MY100+73 junnnywlh pinljukph thnpawppunud tnpny
1 | Ujuwqulnwdwjhl sipin h=10ud/ u3 2 6,280 12,560
2 | Onulbkph hhdbwwwyh dhwany pbvink B12.5 u3 3,2 58,200 186,240
3 | &/ppinhh nbqunpomud N14 hie 4 139,500 558,000
4 | Onuih gpuwiklniuwgnud Eplokpn tiwp phinnuiny u2 14,8 3,550 52,540
MY100+20-M4101+00 b MY113+20-M4113+70 nknudwukpnud thgph
hpujubugmd
1 | 110y gpnibnh dowlnud b inknunhnjunwd pnynnqbpny 504 (hgp U3 110 0,430 47,300
2 | V10q gpnibwnh pupdnud u3 150 1,190 226,100
3 I:’;ﬂ‘&“;‘;‘;&ﬁ:ﬂ:ﬂ;’h‘"m wwhnuunhg 24-hg (hgeh nnb 399 0,358 142,842
4 | Ynnuyhl wentubph winuwhwbnud YEjuwbhquny e 12 2,240 26,880
5 | bt sttt st anintion |y | o | e | o
6 | Twpwlubph hpwlwlwgnuwd gpntbn 110 gnibnubpnud u3 130 3,083 400,790
MU95+33-MU95+98-nul/L=66.00/ Ytphtt hkbwuunnh b 34x30ud
hunjwpm}h pwnntt qupkph hpwjwbwgnd
1 | Uuqulnwduyhl gbpin h=20ud u3 14,5 6,280 91,060
2| B P2 u3 119 51,380 611,422
3 | Ppwih puwdpwpb phwnnt B20 U3 23,76 52,440 1245,974
4 | Qpudklniuwgnud Eplygkpn nwp phinnudny u2 145,5 1,250 181,875
5 | Uhwanyy pbwinuk pwuwly B20 5x45ud U3 1,5 74,173 111,260
6 | Ujuqulny&uht okpwnn Jupbkph vl h=10ud u3 3.3 6,52 21,516
7 | &/p hwjwpnyh qupbkph nbknunpnud L=3.0ud; 34x30ud yunhuh-78qd.4 hun 22 52,467 1154,274
8 | Qpuublniuwgnud kplypkpn twp phnnuing u2 83,16 1,250 103,950
9 | Zkbwuywwnh Epkuwywinnud vjunny 2 66 1,970 130,020
10 | Zkwwnwpd \hgp u3 84 0,090 7,560




M495+31 ninhnud 34x30ud hwjwpnyp phunnbik Juph hpwlwimgnu

dwnupwpny
' | Unwquilnugunhl pbpn quipbph vl he1ows 3 . ot e
6/ hunjwpnyh Juwpkph wibnuinpnud L=3.04; 34x30ud ywihuh-78qs.u huwn 2 52,467 104,934
Lpuilkniuwgnud bplyskpn vwp phianudng 02 7.56 1,250 9,450
bt N8-84.64qiq ol 12 9,77 117,240
N ) 507
2ykikp N6.5-131.04q qs.d a2 e Y
Cunwdkup XI 25542,194
Cunhwlnipp (hwq. npunf) 1139551,728

* Uhwynph wpdbpp Ukpwenud £ pynp dwjuubpp, tkpunjuyg «Cwhnypp» L UUZ-L

OUdULUEE E-LURUZUTPY
$-8-22, /U-2/-qwpnuyjwlp-fiypubg-Uqupul wynnfwiwwwphh YU0+000-4U13+100 hwwnjwsh hhdtubinpnguiwi
wohiunwbipubph
(2021p-ha hpuljwbwgws)

/22 hwquip npwd/
vg £
&
Uhwynph Cunhwbmp
2/h Ugluwunwbpibph winjwbnu; 27 Duju g
2l pukph winjwinuip g é Yuip b wpdbpp
1 2 3 5
I Swigk gujuyunnkph pwinnud b top gwuwuwnkph
wnbknunpoul
1 Gnjnipnil niibgnn ny whuwbih gwigk guiijwuywnkph gl 0 3,850 0,000
wujwinbnuiijwynuf
Unp guitigh gubljuwupwinbph nkqunpnud h=1.5d qb.ud 0 6,360 0,000
Tunnnywlubph hhdph Jhwany) phnnt B15 0.25x0.25x0.3u w 0 49,580 0,000
2
Ubunwnwlwb funnnyjul) d=76x2.5u4, 1 gb.01=6.25)jq gd.d 0 3,390 0,000
Ukinwnuljwt gutg 50x50mm 2 0 0,900 0,000
Cunuukhp I 0,000
II | Znqupht wphuwnwbiptip




1 111100 gpnitinh Wpwlnud b wknuihnunud pntynnglnny 504 |hgp B 21830,00 0,430 1216,900
2 | ‘unylp V10q gpnitinp us 1 400,00 0,760 1064,000
11110 gpnibin Wpwlynud Epuljwijwinnpny/0.654%, pwpdnwd 5
3 w/hlipiwpwihbph Ypw 1§ 1.080,00 0,670 723,600
4 | wknuihnjunud hgp 1.044 wnnl 2051,60 0,287 588,809
V10q gpnitinh dpwlnul kpuljuwiinnpny/0.654%, p/, pwpdnud B
5 w/htipbwpuwihbph ypuw [} 760,00 1,190 904,400
6 | wknuihnjunul thgp 1.0y winb 1 595,80 0,287 457,995
V10q gpnibinp dawlnud kpuljuwinnpny/0.65U0%, pwpanud
7 w/hliplupuihbph g s 220,00 1,190 261,800
8 | wknuihnjunud |hgp 2.04d wnnb 461,60 0,359 165,714
9 | V10q gpmbnnh pupdnud 5 440,00 1,190 523,600
10 V10q gpnitunh nknuihinfumd wwhnunnhg ' 24d-hg (hgph p 924.20 0.359 331,788
hpwluwbwglwi hwdwp
11100 gpnitnh dpwlnul L inkqunhnjunud pnuygngbpmy 500
= Ynunwlnudny, pwpdnuf Epuljunjwinnpni/0.65d3/ . ALY 0208 Y
12 | wbnuibnjunud gulimyin dhehtip 6.04d wninb 3 040,00 0,593 1802,720
13 | Lnyup V10q gpnitinp IS 550,00 1,947 1148,730
14 | nbnuihnjunuf \gulnyin dhghup 6.04d wnnl 1239,20 0,593 734,846
15 1 Ynnujht wnnitibph whnuwhwbnu dkhubihqung Iy 0,00 2,240 0,000
16 Lhgph Junwgnu! wluingjnntiny vy htnpny 6 whgntiing 30ud B 0,00 0,631 0,000
2kpunh hwuwnnipyudp, gph twpwsnulny
MU24+06-MU24+10 hwunwdnuf wehg pwpwpklnplibph V20w
17 | thjupkgniu/0.6-4.0d3/ wyuypwhgpuyhli hgpkpny, wuwyjpwhgph U3 0,00 5,720 0,000
unpnipynitip Uptish 0.54
Cunudthip I 11464,102
I Swhwywphuyhb wunawsp
1 Gnjnipinil niibgnn dwiwywphwht wwinywsph plhgnud, £ 487400 0.760 3704240
fawnwgnud h=15ud
2 | péwlnu&unjwquyhli pkpin C5 h=12uy 2 19528,00 1,230 24019,440
3 | Fhununy dpwlws pdwwquhl juwntinig h=8ud U2 16 048,00 5,460 87622,080
4 | Swpdwbpwhunnhl w/pbwnnt A inhy h=4ud u? 16 048,00 4,240 68043,520




Clnurdkup I 183389,280
Unnluljukp
Swlwpnipuihtt gpniinh pupdnwd w3 0,00 0,620 0,000
Swdwpnipnuht gpniinh wknuithnfunid wwhniunhg dhehtip
2.04d-hg Ynnbwlubph hpuljwibwgdwh hufwp U S0 0350 ot
Unnuwlukph hwppgnul /34191m2/ U jutnwugnud wulidngnnuny 1
hEwnpny 4 wignudiny h=24ud skpuih hwuwnnipjudp, oph 3 0,00 0,620 0,000
nwpudnuny
Cunwukbp IV 0,000
Nuyhtitp

Uduquinyduyhl skpn junnnyuljukp vl h=10ud Y 3,35 5,720 19,162
;J:.l;l:l;ll;mml;mh lunpnyulh nknunpnud d=325d; 1g5.4=39.5Yq; qdl 56,00 31,780 1779,680
funnnulubph gpuwdtyniuwgnud Eplokpn viwp phinnuing W2 57,14 1,830 104,566
Guwnhpbbpp dhwdniy phnnt B15-3Zhuwn w3 4,80 102,840 493,632
dwlnydwywquyhb skpunn C6 h=12ud U2 1530,40 1,210 1851,784
Swp dwbpwhwwhl) w/pbnnt R wnhy h=4ud U2 1 368,20 4,180 5719,076
Cl wihyh wpwuwnhly wonubpwbwghl upnitukph nkqunpnud hunn 0,00 5,440 0,000
Ubkunwnulwh jungmjul) 57x3,00d gd.u 0,00 5,280 0,000
pwnt BIS I 0,00 47,560 0,000
Unwknipjub hwwn 0,00 18,960 0,000

CunudklpV Nunhbbkp 9967,900

Ununp

Uduquiljnydwhb gbpn junpnyjuljubip tnwly h=10uud g 1,48 5,720 8,466
g:?;uqmumh lunnnuljh wknunpnwt d=325d4; 1q8.U=39.5}q; o 247 31,780 784,966
ungnulubph opudblmuwgnud Epljokpin viwp phuninudng 2 25,2 1,830 46,116
Fuwnppubph vhwadny) phnnt B15-18 hun 1Y 1.8 102,830 185,094
dwlnwdwjwquyhl skipin C6 h=12ud u2 221,6 1,210 268,136




6 | Swpdwbpwhwwnhl w/pbwnt R nhy h=4ud U2 221,6 4,180 926,288
Cunuidthp VI Ununp 2219,066
VII | ©ppnn junpnyuljutph dwppnud b JEpwlwiqunud
1 Qnynipjnil ntbkgnn nwppkp puglusplbph epenn funnndwlukph s 0 2.900 0,000
Vwppnuf dknpny-26hwn
2 | pwpdnuf dwppnud b nknuidinfunud gulnywn dhehtip 6.04d wnnb 0 0,980 0,000
d=530ud Ubinwnuwlub junnnulikph glluwnhpubkph
. hpwlwliwgnd dhwdniy phwintinyg B15-4 hwwn . 1.28 Lol LAL623
d=720dy dbwwnulwb ungnijwlubph gluwnhpukph
e hpwlwbwgnud vhwdny pinnting B15-4 hwn 5 ) 102.840. 000
‘Unyl junnqulp Juwph b winwdh ppuluwbuognid dhwdnig
2 pkiwinbhg B12.5-4 hunn A 2 41320 3000
6 d=0.75d b/p funnnuwluibph qluwnhplbph hpulubwgnud dhwany S 0 102,840 0,000
phwntny B15-2hwwn
Loyt junnnywlh Juph b wanudh hpujwbugnud dhwdnig :
7 sbwnlihg B12.5-2 hun U 0 71,520 0,000
8 d=1.00 b/p junnnyulbikph qiuwnhplibph hpuluwiugnid dhwdnyg NS 336 102,840 3455424
piunintiny B15-28hwn
‘Unyb funnaulh quph b wnwdh ppuljuwiwgnd dhwdng
9 shunnlihg B12.5-28huwtn v 0 71,520 0,000
10 d=1.25d b/p junnnywlbkph quwnhpubph hpulwlugnid dhwadny P 24 102,840 2468,160
pbwnting B15-14hun
‘Unyl junpnuih uph b wnwdh hpulwbiwgnud dhwdng
i phuntihg B12.5-14hwn i . 5280 2000
12 unnnywyubph giluwnhpitph gpudbynuwgnud Eplypkpin wiwp 02 0 1,250 0,000
phwinuwing
w MU119+91 b MY120+78 junpniwliukph Ephupwgnud ph dwunud 3-
wlwl dbwnp
P Ujwquljnyduyhl gkpn h=10ud/ IS 0 6,280 0,000
q | Onultkph hhubunwlh dhwdny pknntt B12.5 us 0 58,200 0,000
n | &/p pinjukph nknunpnud N13 huwun 0 116,820 0,000




E | Runijuyhl gpundblniuwgnud bplokpun wiwp phinnuing u2 0 3,550 0,000
q | Unubdwghb gpudklniuwgnmd u2 0 6,140 0,000
13 | Qjuwnhph hhuph dhwdny) phuinnl B15-2hwn Y 0 74,390 0,000
U. | MY100+73 fjunnnyulh bplupugnul Biph dwunuf 2- dknp
21 | Uququiynwydughu skpin h=10ud/ ud 0 6,280 0,000
22 | Onultkph hhdtwwnwlh dhwdnyg phwnnt B12.5 3 0 58,100 0,000
23 | &/p pinljh mbnunpnud N14 huwn 0 139,500 0,000
24 | Onulh gpudbnwuwgnid Eplokpn riup phinnudny U2 0 3,550 0,000
25 | Qquwnhph hhdph vhwdny phinnt B15 us 0 74,390 0,000
Cunudthp VII 6055,219
Vil ZEbhwywwnkp
U. Ybpht hEbhwwuinkp
) gl/;l(:ll‘?&r;::tr;‘[;;fﬁl:ﬁlm Epuljujwinnpnd/0.65u%/, pupdnud P 74 0,670 49,580
2 nbknuhnjunud (gulnipn 6.04d winb 0 0,590 0,000
3 | unwbp wbkgaud Ynumuynido] hbnwngupd thgph hwdwp Iy 0 0,460 0,000
4 | Uduqulnwy&uhl gbpwn h=20ud u? 9.3 6,280 58,404
5 | zhdph ppwdpupk phnnt B20 lIg 57,6 51,380 2959,488
6 | Ppwuh pwdpwpk phnnt B20 3 55,49 52,440 2909,896
7 | Qpuklnuwgmy bplyskpn viwp phininwing U2 0 1,250 0,000
8 | zkbwwuwwnh Epkuwupunnud ujunny U2 0 1,970 0,000
9 '3::6(&;?]0[;::;14;23 Légghh hEbwwwunp hpwbh yEpwhwbqunud B 13 68.810 894,530
10 | Zkwwnuwpd thgp v 0 0,090 0,000




Uwnpht bkbwwunnkp

1110q qpattinp Jowlynud kEpujujuinnpnd/0.65U%/, pupdnud

12 C Ry K Iy 116 0,670 77,720
13 | whknuihnjunud [guljniywn 6.04d wnnb 0 0,590 0,000
14 | Lnylp nbnaud jnunulnudng hbwwnwpd (hgph hwdwp g 0 0,460 0,000
MU48+39-MY48+72 wohg gnynipynih mukngnn phwnntb
- wupwwbntbph putnnud Epuljunjuinnpny/0.6543/, pupdnud w e s 2ot
16 | wbknquthnpunwl (gulniyn 6.04d wnb 0 0,590 0,000
17 | Ujuqulny&uyht obpin h=20ud B 258 6,280 162,024
18 | Zhuph hmudpwpkpknnt B20 03 146,9 51,380 7547,722
19 | bpwbp pwdpupk phwnnt B20 U3 160,5 52,440 8416,620
20 | Qpuidkyniuwmgnid Eplpkpin nwp phinnudng u2 0 1,250 0,000
21 | Zkwwnuwpd thgp 3 0 0,090 0,000
Chnwbbp VIIT 23083,376
X Kwlwwwphh jwhunnpouf
Xwbwuwwphwjhb bowbikp
Ukunwnulwb unnnjuly 57x3,0u0d qdd 0 5,350 0,000
pkwnti B15 B 0 47,550 0,000
‘Lwjuwqgnipwghing hwun 0 18,960 0,000
1
Unwybknipjub hwun 0 18,960 0,000
2unnily phpunpuuph hun 0 18,960 0,000
Sknthjuwuinyniput hunn 0 15,510 0,000
Lpwgnighy wmbnbljwnydnipju hunn 0 15,510 0,000
Cunuykhp IX 0,000




Unpghjwhwlngukp

‘Unp Ubnwnulwl wpgbjuwhwlngubph nknunpaud (d=4udd, pwy -4

: J, dbnwnuljwl uynib, juiqbwl -792huwn) A 22220 0.8
2 | wyjwqulnuhd w3 3,100 0,000
3 | Cl mhyh wpuwuwnhl wgqubpwbught wynitibph wknunpnud huwn 5,430 0,000
4 Bqpuuwwwnkp fppwdpwpk phinnbihg M448+38-M448+73
NY50+70-M451+20 /0.4x0.6x2d-34 hww/
5 | z2hdph jpwdpwpk phinnt B20 s 51,370 0,000
6 | Ppwuh juuwdpwpk phwnntihg B20 w3 52,430 0,000
7 | bqpuuwunh ujunnd U2 1,960 0,000
8 | bgpuwwwh ukplnud u2 0,600 0,000
9 Gpplklkh vwuh bpwgsnul , ;nuuwbinpuinundhy qunhlukph
ogquuugnpddup 0.35Yg-142
10 | Zudwinwpusd 1.1 Ly 130,220 0,000
11 | Cunhuwnnib 1:3 (1.5) i} 56,060 0,000
12 | Cunhunnmi 3:1(1.6) '} 105,500 0,000
Cunmikip X 0,000

X1 &/p undpgh ykpwbinpngmud MU52+69-mud

1 ":E:;}:‘i:i&iﬁll::;ﬁhh puqppplubph wywnbnujuynu/Epunupd . 27,970 0,000
3 S B Lot s -
3 | whquihnjunul (guljnyn 6.04d wninb 0,590 0,000
4 | U/pgkpunh pwbnnul h=10ud S 5,150 0,000
5 pwpdnuf dkrpny, wiknuithnjunud (guljngn 64u winb 0,980 0,000
6 Lnylp phunnbb wwownywihy, gpudklyniuhy b hwppkgunn 2kpunkpp 2 30.970 0,000

h=11ud




7 pupdnud dkrpny, nknuihnfunud jguljnyn 64/ wninb 0,980 0,000
TEdnpuwghnt juph pwinnud pwpdnul huptwpunh dknpny:
8 Stnuihnpunul jguljnywn 64U o £20 0,000
9 | pwpdnul dknpni, nkqunhnjunud (guiljniyin U/ wnnlt 0,980 0,000
Ughg puypuyjwd 2-pp Yanuynp uunh Eplujbwlut Jhwdnypdwb
e pbunintih Juquwinnid hwpdwswhwn dnipdny & 26230 000
11 [ pwpdnud dknpny, nknuhnfunud iguyniyn 644/ wninl 0,980 0,000
12 [ IP-6 Ynquiynp vwh wywinbnujuynid-1 hww, pupdnud Ui 7.490 0,000
13 | niknuihnjunud jquiljnuyn 6.04d wnb 0,590 0,000
14 | 3 gkpw innph thonwd vwh il u2 8,780 0,000
15 | uap [P-6 Ynnuynp uwih nbknulujnud hwn 461,200 0,000
Ephpwjht Ygubfwb Jhwdniy) pknnt B30 w 126,620 0,000
16
wuwpnyp AI@3JU liq 0,730 0,000
17 | pidnplwghnt Ywpkph ppuwlubwugnud qa.d 42,100 0,000
18 | Phwnnlbk hwppkgunn 2kpwn h=3-15ud B20 w3 55,590 0,000
Qnpukyniuwgnul rexsoanacr B-ny, phuink wdpwbwynpjws
wwnywihy 2kpwnh hpwlwiwgnud Jhwadny) pbninting B25 U2 7.520 0,000
Epplbybh vwunud h=4ud
19
phwinti B25 3 58,680 0,000
Buwligl 0x10ud U2 1,780 0,000
20 | Uhwdnyy phwnnbk whjwhphsubph hpuljwwgnud B20/0.2x0.5x6/x2 qdd 19,230 0,000
21 | Uwupwhwwhly w/p h=4ud U2 4,180 0,000
22 | Uwbpwhwwnhl w/p h=3ud 2 3,200 0,000
23 | Uwypbph dwbpwhwunpl) w/pkuinnt h=4ud U2 4,280 0,000




24 | Ubjwhphsubipp ubplnud U2 0,800 0,000
Uknuwnuluwl pugphpibph wkquljuynud, gnjnippnth nitikgnn
Ubpnhplbph Ypuw-12q5.d, Ukpynudng T E2E0 Qo0
80x40x3uy
2 | 1-a0415.374g gl 3,860 0,000
40x20x3ud
1-qo. 2.834q qd. 2,098 0,000
20x20x2uu
1gbal-1.134q gdd 0,830 0,000
2% Znnuijhb woiwnwpbikp hEbwpwbubpp hhdpliph ngnnjws B 2,900 0,000
Ywubpnud
27 | pwpdnud dknpny, mbnuihnunud \guljnyn 64U/ wnb 0,990 0,000
28 | dwph phwnnbk dbwgnpnbbph pwinnud hwpjwswhunn Unipény w 56,380 0,000
29 | pwpdnul dkppny, nknuthnfunud jquilnyn 64/ wnb 0,980 0,000
Zhdptph npnpwd dwukph wdpwgnud pwdpwpk pnnting
£ B20/0.8x0.6m/ i o3 Ly
31 | zhdpbph wdpwgnud dhwany puintng B20/0.25x1.0M/ 3 57,470 0,000
32 | 2bwnwnupd wuwnbph wdpugnid Jhwany) phnnbing B20 G 65,810 0,000
Zkbwpwubbph b hknwnuwpd wwnbph pwjpwpws dwlkpbup
e nnplpbin ghd.unjwqny H=3ud N e oty
Conudtup XI 0,000
Lpwgnighy dunjujikp
Uwnphb hEbwywn MY49+10-M449+60
11110n gpnititnh dowlnud tpuljujwinnpnd/0.6543/, pupdnid
1 ST e L 0 u3 0,670 0,000
2 | whnuithnjunud |gulnywn 6.04d wnl 0,590 0,000




3 | Lnwup wmbinaud Ynunwlnudng hbnmwnwpd thgph hwdwp u3 0,460 0,000
4 | Ujuqulnwy&unht gkpun h=20ud u3 6,280 0,000
5 | Zhdph pwdpwpk pwint B20 u3 51,380 0,000
6 Ppwbh jpwdpuipk pbwnint B20 u3 52,440 0,000
7 | 40ud pujunipyuwdp Jhwdanty) pkinnb B20 u3 67,316 0,000
8 | Swdwpniprn wunnh Linbihg god 10,539 0,000
9 | Swdwpnipyuhb npnyuljukp d=150du/wynhkphikhwh/ qd.J 4,773 0,000
10 | Qpuuklyniwwgnud kplpkipin nwp phwnuing U2 1,250 0,000
11 | bopuwwwnh hewdpupk phinnt B20 u3 52,308 0,000
12 | Bopuywwh bphuwyyunnud ujunny U2 1,963 0,000
13 | Ggpuuywunh bplnul u2 0,600 0,000
14 | 2kwwnwpd |hgp u3 0,897 0,000
15 qkphb hEbwwwwn MU96+02-NU96+84.5

16 | Ujwqulinydwyht gkipun h=20ud u3 6,280 0,000
17 2hiph juwdpuwipk phnnti B20 03 51,380 0,000
18 | bPpwbh juwdpwpk pbiwnnu B20 u3 52,440 0,000
19 | Qpudkyniuwugnud Eplokpin tnwp phinnudng u2 1,250 0,000
20 | Uhwany) pbninbk puuwl B20 5x45ud u3 74,173 0,000
21 | Udwqulnw&uyghl okpin Jupkph vl h=10ud u3 6,52 0,000
22 | &/p hwjwpnyh Jupkph wknunpnud L=3.0d; 34x30ud swithuh-78qd.d huwn 52,467 0,000
23 | Qpuudklniuwgnud kplgkpun niwp phuinidm] u2 1,250 0,000
24 | Zkbwwuwwnh Epkuwuyunnud udunny u2 1,970 0,000
25 | Zkwwnupd \hgp 3 0,090 0,000

NY96+00 U MY96+88 ninhtikpnud 34x30 hwjwpnyh ptannlk Jupkph
hpwjutimgnul funuywpny

1 Ujwqulnuduyht sbpin Jwpkph vl h=10ud U3 6,52 0,000
2 | &/p hwjwpnyh Jupbph nknunpmud L=3.0u; 34x30ud swthuh-78q5.u hwwn 52,467 0,000
3 | Qpuiklniuwmgnud Epljgkpn vnwp phuinudng u2 1,250 0,000




2ykikp N8-169.24q qa.d 9,77 0,000
ok kp N6.5-261.96q qs.d 8,176 0,000
MNY96+92-M497+30-nul 34x30ud Jupkph hpwwhwugnul
Uduqulny&uyhl okipin qupkph vl h=10ud u3 6,52 0,000
6/p hwupnih Jupkph wkqunpoud L=3.0d; 34x30ud yunhup-78qs.d hun 52,467 0,000
Qnuiftiyniuwgnud kpljotipnn wup phunnuing u2 1,250 0,000
Ywpnwywiph dhguwlwpg nuypngh onipgp b quypng nwling
Swlwuwwphh hhdbwbnpnqiwb hpuljwiugnud
Mwuwnuwrh hulwhwppignud u2 0,018 0,000
Udwqulnydwht okipun h=10ud u2 0,507 0,000
Quthwqunws juhg h=12ud phuinulh nwpwsnulng
4.12:1in/1000u2 2 ot o
Swp ywlipwhunnply w/pkwnt ,A"nhy h=5Sud qdd 5,170 0,000
M4100+73 funnnyulh pinlubkph thnfawphtnud Unpny
Ujwquljnydunghti gbipunn h=10ud/ u3 6,280 0,000
Onulbtph hhtbwwwlh dhwany phinnb B12.5 u3 58,200 0,000
E/p pinljh nbnunpnud N14 hun 139,500 0,000
Onuih epwdkntuwgnud kplyokpin tnup phinnuiny u2 3,550 0,000
M4100+20-M4101+00 4 MY113+20-14113+70 mbnuiwubponu |hgph
hpwjubugnud

11110 gpottnp dowlnud b wknuihnjuntd paynnqbpny 504 1hgp u3 0,430 0,000
V10q qpntunh pupdnid 3 1,190 0,000
V10q qpnibinp wkquithnfunud wuwhnunnhg  24d-hg (hgph et 0,358 0,000
hpuluinogdwb hundwp
Unnuyhb weniibph winuwhwbind dkwbhqung Iy 2,240 0,000
Lhgph unwgnud wjubunginnuny Ukl hkwnpny 6 whgnuiny 30ud

u3 0,631 0,000
sbkpunh hwuwnnipyundp, oph twpwsnuiny
Twpwltbph ppuljwiugnud gpocin T1105 qgnitinbbkpnad u3 3,083 0,000

NY95+33-M495+98-n1U/L=66.0d/ kpht htlwujwnh b 34x30ud
hwjwpnih pbwnintuk Jupbph hpwjubugnad

Uduqulnwéuwyht gkpn h=20ud u3 6,280 0,000




ZhUph hnwdpuipk pwnintt B20

2 u3 51,380 0,000
3 | bpwbp pwdpwpk phunnt B20 u3 52,440 0,000
4 | QpuukYnwwgnud Eplokpunn nwp phunnudng u2 1,250 0,000
5 Uhwadnty phwnnbk puuwly B20 5x45ud u3 74,173 0,000
6 | Uduwqulinyduht skpun Jupbph nwly h=10ud u3 6,52 0,000
7 &/p hwwpnih Jupkph nibnunpnud L=3.04; 34x30ul yunhuhp-78qd.U huwn 52,467 0,000
8 | Qpuukyniuwgnud kpljpkpn nwp phuinuing u2 1,250 0,000
9 | Zkbwywwh Epkuuywinnul wjunny u2 1,970 0,000
10 | Zkwwunupd (hgp u3 0,090 0,000
M495+31 nunhowd 34x30ud hwwpnyh phwnntk Juph hpuljwbimgnd
&wnuowpny
. UJwqulnu&ughb gbipn Jupkph vl h=10ud e 632 S0
&/p hwjwpnyh Jupbph inbqunpnud L=3.0d; 34x30ud ywihuh-78qa.u hwn 52,467 0,000
Qpuiklnwwgnul kplokpn tnwp phunnudng 2 1,250 0,000
LAY 9,77 0,000
24btip N8-84.64q4q )
otk N6.5-131.04g gdu 8,176 0,000
Cunuukbp XI 0,000
Cunhwhnipp 236178,943

* Uhwynph wpdbpp Ukpwnnuw k pninp swpukpp, bkpwnjw) «Gwhniypps b BUZ-4




OUYULUEE e-LUUZUTHY,
$-8-22, /U-2/-dupnujuip-vnputig-Uqupul wjnndéwbwwwphh ¥U0+000-9YU13+100 hwnywsh hhdbwiinpngluib
wphmuwnwiputph
(2022p-h hpwljwtnag]tyhp)
/22 hwq. npud/

2 e
3 a
Uhwynph Cunhwlnip
2/h Usjuwwnwipbkph wijubmwd 25 Twju B
2lu pukph wiy L -5- % Juip T wpdkpp
1 2 3 5
I SBwgk gujuwujwnkph pwinnul b inp gubljuyunkph
wnbkqunpnuwl
1 Gnnipynth nibikignn ny yhiwith gutigk gwbiljwywinkph . 174 3,850 669.900
wywnbnuljuynud
‘unp gwligh guuwujunnkph nknugpnud h=1.54 qs. 174 6,360 1106,640
unnnwlubph hhuph vhwdniy phwnint B15 0.25x0.25x0.3u W 1,44 49,580 71,395
2
Ubkunwnuljwl jnnnduwly d=76x2.5u4d, 1 gb.U=6.25Yq gb.u 171,6 3,390 581,724
Ubkunwnuljuwb gug 50x50mMm U2 261 0,900 234,900
Chnudkup I 2664,559
II | Zonujhb woliwnwbiplibp
1 11110y gpmbnp dpwlmd b nknqunhnfunud paynnqbpny 504 (hgp I 0 0,430 0,000
2 | vunyup V10q gpnitunp w3 0 0,760 0,000
111100 qpnitinnh Yowlnd kpuljujwinnpnd/0.65U0%/, pupdnud N
.67 )
3 w/hlipbwpuwihbph Ypuw 1§ 0 0,670 0,000
4 | wknuihnjunud (hgp 1.04d wnnlh 0,4 0,287 0,115
V10q gpniinh dowlnuwd kpujujuinnpnd/0.6540%, p/, pwpdnd
5 3 0 1,190 0,000
w/plipbwputhbph Ypw
6 | whnuihnjunud |hgp 1.04u wnnb 0.2 0,287 0,057
V10q gpnitnp dpwlnud Epuljunfwinnpnd/0.654%/, pupanud
7 3 ) 3
S U 0 1,190 0,000
8 | wknuhnjunud \hgp 2.04d winlt 0,4 0,359 0,144
9 | V10q qpniiunh pupdnd & 0 1,190 0,000
10 V10q gpnibwh nbkpuithnunud wwhnwwhg  24d-hg |hgph B 02 0359 0072
hpwlwiwgdwl hunfwp




[I110n qpnitinh dpwlnud b nbknuithnfunud pnunngkpny 504

3
1 nunwlnuiny, pupdnud Epuljwuinnpnd/0.65u3/ u ) L 0200
12 | wnbnunpnjunud jguljnywn dhghtip 6.04d wnnl 0 0,593 0,000
13 | ‘unybp V10q gqpnitinnp s 0 1,947 0,000
14 | wbnwihnpunud |gulniywn dhehtip 6.04d wnnb -0,2 0,593 -0,119
15 | Ynnujhb wemubph winuwhwbnwl dkjuwbhqung I 7460 2,240 16710,400
16 Lhgph huunmugnid whlbidnggnuing dkl hkwnpny 6 wignudny 30ud s 6740 0,631 4252.940
2kpwnh hwuwnnipjudp, oph nwpwsnuing
MUY24+06-M424+10 hwnjwdnid wehg pupwpklnpllph VII20w
17 | thlupkgni/0.6-4.0u3/ wyuypwugpushli |hgpkpny, wwjpwhgph IS 18 5,720 102,960
funpnupyatip dhtish 0.5d
Chnwytbp II 0 21066,425
m Swhwywphwyhll yunnjwdp
1 Qnjnipjmb nibbgnn fwbwnywphw)hl wjundwsph plhgnud, S 7348.6 0760 5584,936
hownwgnud h=15ud
2 | pfwlnwydunjuquihb skpin C5 h=12ud 2 61956 1,230 76205,880
3 | Fhuinuing dgwljws dwiwuquihll juwntinipn h=8ud u? 61711 5,460 336942,060
4 | Swp dwipwhwwnhl w/pbunnt A" nhy h=4ud u? 60222 4,240 255341,280
Chnwybup IIT 0 674074,156
IV | Ynnuwlukp
1 Sunfwpmpnujhlt gpnibnh puwpdnud 3 8206 0,620 5087,720
Swdwpnipquyht gpnibinh nkqunhnfunud wwhniuinhg dhehtip
2 2.04d-hg Ynnbwulubph hpwjwinugdwb hunfwp ant P it L
Unnbwllkph hwppbgnul /34191m2/ U jonwgnul wulidngjnniing 1
3 | hbkwunpny 4 whgnuiny h=24ud skpwnh hwuwnnmpjudp, oph w3 8206 0,620 5087,720
nwpwsnulny
Cunwykup IV 0 15936,052
v Nunhbtp
1 Udwquljnydwght obipu jungoduljbikp vl h=10ud U3 4,43 5,720 25,340
9 Uknwnulwl fngnjulh wknunpnud d=32544; 1¢5.U=39.5Yq; ol 73.9 31,780 2348.542

S5=5uu




3 | nnnduljubph opudklniuwgnud Eplokpin viwp phinnudng u2 75,42295 1,830 138,024

4 | SQuwnhpubph dhwany) phnnb B15-32hwn B 48 102,840 493,632

5 dwlnwydwuquht okpin €6 h=12ud u2 2195 1,210 2655,950

6 | Swp dwipwhwwnhlj w/pbuinnt A" nhy h=4ud u2 2106,7 4,180 8806,006

7 | Cl whyh wpwuwnhl) wgpubswbughb ynibkph wkqugpoud hun 204 5,440 1109,760
Ukwnwnwluh junnnyjul) 57x3,00d gd.u 108 5,280 570,240

8 | phunnt BI5 w3 3.6 47,560 171,216
Unwyknipjul huwn 36 18,960 682,560

CunudkbpV Minhubkp 17001,270
Vi Ununp

1 UJwquilinydwght okipn junnnjuljbikp wwly h=10ud > 2,29 5,720 13,099

9 g_l;\;ll;lqmth funnnuiljh inbnunpnud d=325U4; 1¢8.U=39.5Yg; qb.d 382 31,780 1213.996

3 | hnpnywlubph opudklniuwgnud kplokpn wwp phinnuing u2 39 1,830 71,370

4 | Quwnhpubph dhwdnyy piinnt B15-18 hwwn I 3,6 102,830 370,188

5 v wlnwdwwquiht okpin C6 h=12ud U2 439,5 1,210 531,795

6 | Swp dwbpwhwwhl w/pbnnt R inhy h=4ud U2 4395 4,180 1837,110

Cunudtkup VI Ununp 0 4037,558
VII | ppnn jungnjuljukph dwppnud b JEpujuibiqinud

1 Gnjnipjnil nibkgnn nwppkp pugluspubph openn ungndulukph £ 315.2 2.900 914,080
Jwppnud dknpny-26hwn

2 pwpdnuf Ywppnud b wiknuidinfunud guljnyin dhehbip 6.04d wninl 598,88 0,980 586,902
d=530uu dbwwnulwb funnnjwlbkph qjuwnhputph

; hpujwbwgnud dhwdny) piinnting B15-4 hwwn 3 128 102:820 SRLEs>

4 d=720ud vEwnnwnuljwb unnnjulibph qlluwnhpkph B 48 102,840 493,632

hpwlwbwgnud Yhwany; phnnbing B15-4 hwn




LUnijb annnuilth uiph b wnwdh hpwubwgnud dhwdngg

5 punnthg B12.5-4 hwn u? 4,04 71,520 288,941
6 d=0.75d b&/p funnnwlukph qiluwnhpibph hpwlwbwgnud vhwdny) NS 24 102,840 246816
pbwnting B15-Zhun
7 Lnyu jungnjwhh quph b winudh hpujwbugnud dhwény s 2,02 71,520 144,470
pEuinihg B12.5-2 huin
8 d=1.00 &/p unnniwljukph quluwnhptibph hpwjubwgnud dhwdng s 448 102,840 4607.232
phunting B15-28hunn
LUnyb annmjwh Juiph b winwdh hpuwlwbugnod dhwdng 3
9 pbinnlihg B12.5-28hwn U 39,4 71,520 2817,888
10 d=1.25d bk/p junnnwlukph gluwnhplbph ppuluwbwgnud dhwdany P Y 102,840 3290.880
pkuinting B15-14hwn
‘Unyb funnnywlh Juph b unnudh hpujwbiugnud dhwdneg
1 pbunlipg BI25-14hwn g 22,54 71,520 1612,061
12 unnnulbikph g luwnhptibph gpuwdbyniuwgnud Eplpbipun nwp 02 251 1,250 313,750
phwinudny
U MY119+91 b MU120+78 junnniwljubiph Epluwpugnud biph dwunul 3-
" | wlwb dkwnp
P | Uduwqulnyduyhl okpin h=10ud/ e 1,6 6,280 10,048
q | Onulukph hhdbwwnwlh vhwany pbint B12.5 us 3,72 58,200 216,504
1 | B/ppinjukph wknunponud N13 hunn 6 116,820 700,920
| Runidjwhl gpudblnuuwgnud kpligkipn wwp phunnudng u2 18 3,550 63,900
q | Unubdwjhb gpudklniuwgnid U2 6 6,140 36,840
13 | Qfuwnhph hhuph vhwdny) phinnt B15-2hwn us 6 74,390 446,340
U. | M4100+73 junnnywlh Eplwpwugnid Giph dwunud 2- Uknp
21 | Ujuquljnwy&uyhti okpun h=10ud/ e 1 6,280 6,280
22 | Onulukph hhduwwnulh vhwany) phinntt B12.5 u? 1,6 58,100 92,960
23 | G/ppinyh nbknunpnud N14 hunn 2 139,500 279,000
24 | Onuyh gpundknuwgnud tplyokpunn wwp phuinuing U2 7.4 3,550 26,270
25 | Qqpuunhph hhdph dhwdny) phnnt B15 us 3,75 74,390 278,963




Cunuiklp VII 0 17606,312
Vil ZEbwyunnkp
U dEphbu hkbwywwntp
11110 gpnitnh dowlnul kbpuljwjwinnpny/0.656%, pwpdnud
1 s 53 0,670 35,510
w/hptwpwihkph Ypw
2 | wbknuthnjunud (guljnyn 6.04d wnnl 241,3 0,590 142,367
3 | Lnuyup wbknnud hnunwynudn] hbinwnqupd (hgph hunlwp us 43 0,460 19,780
4 | Ujuqulnuyduht okipin h=20ud I 1,2 6,280 7,536
5 | Zhdph mulpupk piunint B20 s 3,66 51,380 188,051
6 | Ppwbh pwdpwpk phnnt B20 3 4 52,440 209,760
7 | Lpuublnwwgnd Eplokpn viwp phuinuing u2 182,2 1,250 227,750
8 | Zkhwuywwh kphuwyuinnul ujunny U2 101,4 1,970 199,758
NU46+80-M447+00 JEpht hEbunywinh hpwbh Jipuljwbqund 5
9 "hwany phunnting B20 § 0 68,810 0,000
10 | Zkwwnuwpd |hgp us 43 0,090 3,870
11 Uwinphu hkbwuunkp
110 gpniinh dpwlnid kpuljwjunnnpny/0.65u%, pupdnid
12 e e e s y3 264 0,670 176,880
13 | wknuihnjunwd (gulnyn 6.04u nnl 722 0,590 425,980
14 | Lnuwjup nknnud Ynunwynuing hbnwnupd (hgph hudwp B 152 0,460 69,920
15 MU48+39-NU48+72 wiohg gnynipjntt nibiingnn phwnntk s 0 1,400 0,000
wwpwwhbwnbbph pwbgnud bpujwydwwnnpny/0.65u3/, pupdnd
16 | wknuihnjunwd |guljnywn 6.04d wnnb 10,032 0,590 5,919
17 | Ujwqulnuyduyhl obpin h=20ud 03 32,7 6,280 205,356




18 | Zpdph uwdpwpbpbinnti B20 U 189,11 51,380 9716,472
19 | bpubj pwdpwpk phwnnb B20 w 240,82 52,440 12628,601
20 | @puwuklniuwgnud Bpljpkpn nup phuninudnyg U2 9235 1,250 1154,375
21 | Zkwnwnwpd thgp Iy 152 0,090 13,680
Cunwydtbp VIII 0 25431,564
X SKwiwuwphh juhwynpowd
Kwhwywphwihb bowbhkp
Ukunwnuwlwb junnnjul 57x3,0u4 goud 330 5,350 1765,500
phinnt B15 U3 11 47,550 523,050
1 ‘Lwhnuqqgnigugling huwn 86 18,960 1630,560
Unwyb)nipjut hwwn 2 18,960 37,920
Zwnnily pbpunpuph hwn 8 18,960 151,680
Sknkljwunynipwls huin 14 15,510 217,140
Lpwgnighy nknklwwnynipjub hwin 14 15,510 217,140
Cunuiklp IX 0 4542,990
X Upgkjuhwlngukp
) | et bl gt 034 | g | 0 | 2w | e
2 | wjwquinuhd Iy 25,74 3,100 79,794
3 | Cl whyp ywuwnhl wenubpwbwghb yypikph wkqupgpoud hunn 934 5,430 5071,620
4 Gqpuywunkp pwdpupk piwnbhg M448+38-M448+73
NY50+70-1451+20 /0.4x0.6x2U-34 hwnn/
5 | 2hdph fmunlpuipk plnnt B20 w 6 51,370 308,220
6 Ppwuh pwdpwpk phwnintthg B20 1 16,32 52,430 855,658
7 Bqpuwuwwinh ujunnud u2 125,12 1,960 245,235
8 | topuwunnh bkplnuf u2 125,12 0,600 75,072




Gpplitlkh dwuh bowgsnud , jpruwinpunupdhy gunhljukph

? oquuugnpduwp 0.35Yg-1u? 0
10 | Zunfwwnwpws 1.1 yut 5,682 130,220 739,910
11 | Cunhunnnih 1:3 (1.5) Y 4,538 56,060 254,400
12 | Cunhwwnmb 3:1 (1.6) yu 2,2 105,500 232,100
Cunuukup X 0 90639,309
XI ©/p judpgh yEpwinpngnud MY52+69-md
1 2nignibik ny whwwbh puqphpubph wywnbquuynuw/Jbpunupa b 0,09 27.970 2517
ubkthwljwbwinhngp
Qnjnipnil niikgnn pupuyjws tqpuipwpbph pwiignid 5
2 nknwihnjunul |gulniyin 6.04U . . L&D 0.8
3 | nbknwihnjunud |gulniyn 6.04U wnb 1,296 0,590 0,765
4 | Wp okpwnh pwinnud h=10ud Ul 7.2 5,150 37,080
5 pwpdnud dknpny, wknuithnpunud |guljnijn 64u nnh 15,84 0,980 15,523
6 ‘}l:_nlqll;\EI phuninuk wwonwwuhy, opwdkyniuhy b hwppkgunn skpunbpp 0 7.92 30,970 245,282
7 pwpdnwd dkppny, inknuihnfunul guljnin 64u/ winb 19,008 0,980 18,628
Febnpdwghnt Yuph pwbignd pupdnud hiptwpwith dknpny:
8 S e e Rl qdu 22 2,370 52,140
9 | pwpdnuwf dkppny, mknuithnpunud |gulnipn 644/ wnnb 0,55 0,980 0,539
Ughg pujpujjwd 2-pny Ynnudnp uungh bpljugiwlwt dhwdnydwh
B phuintih juquwuinnud hwpywswhunn Unipény i ] 26.250 o
11 [ pwpdnul dknpni], mknuithnjunud jguljnywn 64U/ wnnl 0,504 0,980 0,494
12 | IP-6 hnnuynp uwih wywnbnujunul-1 hunn, pupdmd IS 1,08 7,490 8,089
13 | mknunhnjunud \gulnyin 6.04U wnb 2,7 0,590 1,593
14 | 3 okpwn wingh thenwd vwih vl u2 2,1 8,780 18,438
15 | Lnp MMP-6 nnuanp uwh wkqujunud huwin 1 461,200 461,200




Ephpwjhb jgwbdwl vhwdniy) phnnt B30 w 0,21 126,620 26,590
16

wwpnyp AIP3ud lig 4,06 0,730 2,964
17 | nkdnpdwghnt fuwpbph hpuljwbwgnul LAT) 22 42,100 926,200
18 | Phwunbk hwppkghnn okpun h=3-15ud B20 w 6,48 55,590 360,223

Lpundblntuwgnud Texnoaaacr B-ny, pinnbik wdpwbwdnpwd

wwotwyuwibihy 2kpnp hpwljwliwgnud dhwany) pbninting B25 U2 72 7,520 541,440

bppbklkh dwunul h=4ud
19

pkwint B25 IS 2,618 58,680 153,624

8wlgl 0x10ud u2 56 1,780 99,680
20 | Uhwdnyy pkinnbik wiiuhphsbbph hpulwiwgnud B20/0.2x0.5x6/x2 gqb.d 12 19,230 230,760
21 | Uwbpwhuwwnhl w/p h=4ud u2 56 4,180 234,080
22 | Uwbpwhwwhl w/p h=3ud u2 56 3,200 179,200
23 | Uwypbph dwipwhwnhl w/pinnt h=4ud u2 12,6 4,280 53,928
24 | Uuwhphyukph ubpynuf u2 12 0,800 9,600

Ubnwnuljwb puqphpbbph nkqulwynwd, gnjnepynih niikgnng

UbpnhpUbph puw-12g5.0, kpynuing wnb 0,2420018 46,360 11,219

80x40x3u
s 25,14 3,860 97,040
95 | 1-q8a15.37yq @
40x20x3uu
1-qb0 2.834q god 11,36 2,098 23,833
20x20x 2

1qb-1.134q g 66,24 0,830 54,979
2% Znnuht wolhiwwnwbipbip hkbwpwbbkph hhdpbph nnondus B 6 2,900 17.400

dwubpnud
27 | pwpdnul dknpny, mbnwihnfunud guljngn 64/ wnnl 11,4 0,990 11,286
28 | Ywph pbwnbb duwgnprubph pwinnud hwpdwswhwin dnipdny I 08 56,380 45,104
29 | pwpdnul dknpny, wmnwihnpunud (guiljngun 64/ wnnl 1,92 0,980 1,882




Zhdpkph nnonwd ywubph wdpwgnud pwdpuipk pinnting

30 B20/0.8x0.60/ us 5.8 51,380 298,004
31 | Zhupkph wdpugnud dhwany) pkwnnting B20/0.25x1.0m/ w3 3 57,470 172,410
32 | Zkwwnupd yuwnbkph wdpwugnud vhwdny) pkuinting B20 e 3.2 65,810 210,592
33 ZEtwpwitikph b hbnwnwpd wunkph pujpwjjus dwltptup 02 45 4,440 199,800
winpljpbwn gid.unjuqny H=3ud
Cunundkhip XI 0 4830,396
Lpugmghy dwjubikp
Uuninphb hEbhwwyyunn MY49+10-1449+60
[1110n qpnitnh dpwlnud bpuljwyjuwunnpny/0.65u3/, pupdnud
,67! 77,

1 Dl st u3 115 0,670 050
2 | wnknuthnjunul (guljnyn 6.0y winl 2185 0,590 128,915
3 i Lnwup wknnud §nunwnuing hbnwnwpd (hgph hwdwp u3 120 0,460 55,200
4 | Uduqulnuw&uyhb okpunn h=20ud u3 12,7 6,280 79,756
5 | ZhJph jpwdpwpk phwint B20 u3 71,4 51,380 3668,532
6 Ppwuh mwdpwpk phwnnt B20 u3 71 52,440 3723,240
7 | 40ud puyunipjudp dhwdniy) piwnnt B20 3 2,95 67,316 198,582
8 | Swuwpnipy wuwwnh kinlihg gd.d 50 10,539 526,950
9 | Suwdwpnipnuyht funpnyjuliukp d=150du/wnihtph Ebwghty gqd.d 254 4,773 121,234
10 | 2pudkyniuugnd Epljokpwn viwp phuiinuwing u2 219 1,250 273,750
11 | Bopuuwwnh jpwdpwpk pknint B20 u3 16,6 52,308 868,313
12 | Bopuwyuwinh Epbuwyunanud udwnny u2 94,3 1,963 185,111
13 | bqpuwwinh Ukpynud u2 94,3 0,600 56,580
14 | Zknmwnuwpd |hgp u3 120 0,897 107,640
15 YEpht hEbwwwin MY96+02-1496+84.5
16 | Ujwqulmydwhl okpin h=20ud u3 55 6,280 34,540




Zhuph jowdpwpt pkwnint B20

17 u3 14,13 51,380 725,999
18 | Ppwlh pwdpwpk phnnt B20 u3 283 52,440 1484,052
19 | Qpublnwwugnud Eplzkpn tnwp phinnuing u2 126 1,250 157,500
20 | Uhwdny pkwnnuk puuwl B20 5x45ud u3 1,77 74,173 131,286
21 | Uduwqulnw&uyht gbkpin Jupkph vl h=10ud 3 3,9 6,52 25,428
22 | &/p hunjwpmjh Jupkph wbnunpoud L=3.0u; 34x30ud sunthuh-78qd.d huin 26 52,467 1364,142
23 | Qpublnuwgnid bpljpkpn viwp phuinwing u2 98,28 1,250 122,850
24 | ZEbwuywwh bphuwywunud ujunny 2 70,7 1,970 139,279
25 | zkwwnupd \hgp u3 56 0,090 5,040
MU96+00 U NY96+88 ninhubpnud 34x30 hwjupnih phwnnuk upkph
hpujwbwmgnul Sunuywpny
1 Ujuqulnydwipl obpwnn Jupbph vl h=10ud u3 0,6 6,52 3,912
2 B/p hwjwpnyh Jupbph wknunpawl L=3.04; 34x30ud swithuh-78gd.d hwun 4 52,467 209,868
3 | Qpudklnuwgnud kplpbpun viwp phinnuing U2 15,12 1,250 18,900
4 | oykkp N8- 169.2lq o 24 9,77 234,480
5 | oykkp N6.5-261.96Yq gd.u 44,4 8,176 363,014
MU96+92-M1497+30-n1d 34x30ud Jwpkph hpuljwbwmgnud
1 Ujuquljny&unhti gbpin Jupkph il h=10ud u3 1,5 6,52 9,780
2 | &/phwupnyh fupbkph nknunpmu L=3.04; 34x30ud sunhuh-78gd.u huwn 10 52,467 524,670
3 | Lpuknmuwgnud kplgkpun nwp phuninwing 2 37.8 1,250 47,250
Hwpnuwywiph dhgwlwpg nupagh onipgp b qujpng nwbing
Swbwywphh hhdwbinpngiwt hpuljwiugnud
1 | Mwuwnweh hwdwhwppbgnud U2 450 0,018 8,100
2 | Ujuqulnydughl okipunn h=10ud U2 450 0,507 228,150
3 i‘i‘;{‘n";‘é‘/‘;&%ﬁ; B A Y] 02 450 3,089 1390,050
4 | Swp Jwlpwhwwnhy w/pknnl R nhy h=5ud gdu 450 5,170 2326,500
MY4100+73 junnnyuwlh pnjubkph thnjuwphtinud tinpny 0
1 Udwquilinwy&wyhti gbipin h=10ud/ U3 2 6,280 12,560
2 | Onulukph hhduunnwlh dhwdny) phinnt B12.5 u3 3,2 58,200 186,240




3 E/p pinbh mEquinpnud N14 hwwn 4 139,500 558,000
4 | Onuih gpwdkyniuwgnud kpljpkpw twp phuninudny u2 14,8 3,550 52,540
MY100+20-17101+00 b NY113+20-M4113+70 inbqudwubpnu {hgph
hpuwjwbwugowd
1 110 gpnitinh dpwlnud b wikqunhnfunid pnynngbpny 500 |hgp u3 110 0,430 47,300
2 V10q qpnitinh pwpdnud u3 190 1,190 226,100
3 V10q gpnibinp wbnuihnjunul wywhnwinhg  2Y4U-hg |hgph o 399 0.358 142,842
hpuljwbwgdwb hundwp
4 | Ynnuihl wenbkph winuwhwbinu dkwbhqung I 12 2,240 26,880
5 Lhgph hiunugnud wubdng)nnuing vkl hkwnpny 6 whgnuiny 30ud 03 300 0,631 189,300
2kpunp hwunnipjundp, oph Mwpwdnuing
6 | Ttwpwlbbph hpwlwbwgnud gpnitn 11100 gnitbnbikpnud U3 130 3,083 400,790
NY495+33-MU95+98-n1l/L=66.00/ Jkphu hEbwyunnh b 34x30uyf
huwjwpnih pbwintk qupkph hpwyuwbwgnul
1 | Uyjuquiny&uht gkpin h=20ud u3 14,5 6,280 91,060
28 sebuiel SN pR R pbnl=E20 a3 119 51,380 611,422
3 Ppwuh piwdpupk phiwnnnt B20 u3 23,76 52,440 1245,974
4 | Qpuulbymuwgmd kplpkpun tiwp phuiinudng U2 145,5 1,250 181,875
5 | Uhwdny) phwnnbt puwuwl B20 5x45ud 3 1,5 74,173 111,260
6 | Uduqulnyduyht gkpn Jupkph tnwl) h=10ud J3 3.3 6,52 21,516
7 | &/p hujwpnih Jupbkph wknunpnud L=3.0d; 34x30ud yunhup-78gd.u0 hwwn 22 52,467 1154,274
8 | Lpuilklniuwmgmud bpljokpun viwp phuinidng u2 83,16 1,250 103,950
9 | Zkbwuwwnh Epbuwwyuinmd ujunny u2 66 1,970 130,020
10 | 2Ewnwnwpd |hgp U3 84 0,090 7.560
MY95+31 nunhnud 34x30ud hunjwpnih plwnnbk Juph hpwubugnul
Swnuowpny
! | Uduquiinuguwh sbpu qupbph wul h=10u 3 X2 £ HEEL
&/p hwjwpnyh upkph wiknunpnud L=3.0u; 34x30ud swihup-78g3.u hwwn 2 52,467 104,934
Qpunfklnuwgnud Epljpkpunn viwp phunnudng 0 7.56 1,250 9,450
12 9,77 117,240
2ybkp N8-84.64iqliq gqsud
22,2 8,176 181,507

2ybikp N6.5-131.04g

gd.J




Cupubkup XI

25542,194

Cunhwhnipp

903372,785
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N SUBL-2UUUT2R-2021/1C  qufwb wuydwbwgph
2022p. JupJwd

@] 2 Zundwawgwgnny
ZuykpJus N 2
Orusnrsushu ArudrY
$-8-22, /U-2/-dwpnujuibip-lunppuig-Uqupuy wnjinndwbwuymphh YU0+000-4U13+100 hunnjwsh hhdtwbinpngumi
woliwwnwbpubph
(2022p. hpwlwbwgykihp)
Yuwuywjwunnth Ynnuhg Ugluuwnwbphibph junnwpduh dunfybunp
No Junuwpybihp  woluwwnmbphtph
wnwidht wbkumlubkph
whfwinubp uljhqep wjwupinp
Unyb hwdwduywghpi nudh Uk Unyh hwlwdwjiiughpt nidh dke
! Lupnpwunnp fhapdwplnufutp Uwntkimg htwnn Uwnbik)mg hkwnn 92 op
Unyh hwdwdwybwghpb nidh kg Unyju hwdwduybiughpt mdh ke
2 Znnuihls wohrunnwbiphp uwinbbinig hkwnn dwntitjmg hkwnn 60 op
Unyl hwdwdwjiwughpl mdh Uk
5 bppliblbh Unyb hunfwdwjbwghpt mdh dby ] juwghpt mudh Uk
dwnbbing hkwnn Untiiymg hkwnn 80 op
Unyb hwdwduywghpt mdh Uke Unyh hwlwdwjiughph nidh ke
4 Qibnhlkp U dnunpbp Unbikjmg htiwnn Uwnikjnig hkwnn 85 op
Unyt hwiwduybwghpt mdh Uk
5 Ynnlulikp Unyl hwiwduyiwghpt mdh dky ] juwghp h by
dwnbbimg htivin uwnlikinig hkinn 90 op
. Qnpan Jungnulubph dwppoud b Unyb hwdwawjiughph mdh dbg Unyb hwdwauywghpt nidh kg
YEpuwubqimd Uwnblymg htwnn Uwinlikymg hkwnin 75 op
Unyb huwdwdwjiughph nudh Uk
5 JSTRR—— Unyit hwdwawbwghpb nidh dky | juwghpl nidh ukg
dntikjmg htinin Uinikjmg htwnn 60 op
Unylt hwdwdwjiwghpt mdh dke Unyb hwlwdwjiwghph nidh kg
? U/ptannlib lunipgh puitnpagaud dintjmg hkwun Uwntiinig hkwin 50 op
Unyt hudwauyiughpl mdh Uk Unyb hunfwdwjhghpt nidh ke
10 Ubinulignipjut bbbt dnbkmg hkunn Uwnlbikjmg hkwnn 90op
Unyjb hwdwdwjbwghph mdh dke Unyjt hwdwadwjbwughph nudh dky
(SN G AL Uinuk)nig hknn Uwnttynig hkwnn 92 op
MUSYrrusne YUMULUNNR
2Z wnupwdpuwhl junuupdwh b «Uywunwd» UNC
Eipwlurmgluspubph bwjuwpupmpnth 22, p. Gpluuh Umipuipuipkih Jué. 17/1
2Z p.5phwb, Yuwrwwpwluh ninih 3, «Udkphwpwlily» ®LC
22 §Ehnpniiujub qubdunybuupub 22.15700-04636690100
22.900011025823 2422 00440378
2492202815457 Stopkh
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N SUBL-2UUUTRL-2021/1T  quiwl wupwhwgph
3 O 2022p. Yupgws

©hy 2 Zwdwdwjiwgpny

Zwy ks N 3

YEUrvuu duUuLuyusnr3s:

S$-8-22, /U-2/-dupnujutip-lunputig-Uqupul wjnnfwbwwwphh GU0+000-4U13+100 hwwnush

hhutwinpnguwh woliwinwbipkph
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(ZZ npud)
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" Hdwpidwl ipwlw gnidwpblpp bEplhupugynid b wdnpuiljwl fuwpgniy:
MUSIPrusnke YUMULUANR
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